

AM

Vendor Ranking

Page 1 of 1

03230914 Letting:

September 14, 2023 10:00

Call Order: 007

Contract:

E3X25-R0

District 3 District:

Counties: DIST/ST-WIDE,

Fed Aid No: N/A

Contract Time: 12/31/24 COMPLETION DATE

GADSDEN, LEON

Project(s): 42215127248 (*)

Contract Desc: MIDWAY OPS ROUTINE MAINTENANCE - MOT SERVICES

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BOB'S BARRICADES, INC.	Responsive	Non-Winning Bid	\$76,900.00	100.00%
2	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$105,300.00	136.93%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 03230914 September 14, 2023 **Call Order:** 007 **Contract:** E3X25-R0

District: District 3 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 12/31/24 COMPLETION DATE GADSDEN, LEON Project(s): 42215127248 (*)

Contract Descr: MIDWAY OPS ROUTINE MAINTENANCE - MOT SERVICES

The work under this Work Document-Driven Contract consists of providing Maintenance of Traffic personnel and devices on a call out basis, for work activities coordinated by the Department to include providing flaggers, installing vehicular and pedestrian traffic control devices, furnishing, installing, and actively maintaining traffic control on limited access and primary roads in Gadsden and Leon Counties. Work activities requiring an emergency response may also be required. All work will be on a call out basis, authorized by Work Document. A pay item for Emergency Mobilization is supplied for the costs of emergency response. Mobilization is incidental to the pay items in the Bid Proposal. The budget estimate for this contract is \$40,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

A Proposal Guaranty will not be required on indefinite quantity contracts, such as work document driven contracts, with an advertised budget amount of \$150,000 or less regardless of the bid amount.

Line No / Item ID Al	ternate Quantity Units	(1) BOB'S BARRICADES, INC.		(2) ACME BARRICADES LC			
() indicates item is bid as Lum	p Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH							
0005 0102 14 TRAFFIC CONTROL OFFICE	100.000 R HR	90.00000	9,000.00	75.00000	7,500.00		
0010 0102 60 WORK ZONE SIGN	500.000 ED	5.00000	2,500.00	75.00000	37,500.00		
0015 0102 74 1 CHANNELIZING DEVICE- TY VP, DRUM, OR LCD	2,000.000 PES I, II, DI, ED	1.00000	2,000.00	2.00000	4,000.00		



Page 2 of 4

Florida Department of Transportation



Tabulation of Bids

Letting:	03230914	September 14,	2023 Cal	l Order: 007		Contract:	E3X25-R0	
Line No /		te Quantity Units	(1) BOB'S BARI	RICADES, INC.	(2) ACME BAR	RICADES LC		
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(TRAFFIC CON	ITROL DEVICES (CONTROL (MH				
CHANNELIZII	2 74 8 NG DEVICE- PEDEST FUDINAL CHANNELIZI		0.15000	2,250.00	0.25000	3,750.00		
0025 0102 ARROW BOA ARROW PAN	RD / ADVANCE WARI	30.000 NING ED	25.00000	750.00	100.00000	3,000.00		
0030 0102 PORTABLE O SIGN, TEMPO	CHANGEABLE MESSA	30.000 GE ED	50.00000	1,500.00	50.00000	1,500.00		
0035 0102 TYPE III BAR	2115 RICADE	30.000 ED	5.00000	150.00	10.00000	300.00		
	2150 1 REGULATORY, SIGN	20.000 ED	25.00000	500.00	15.00000	300.00		
	2150 2 ED DISPLAY UNIT	10.000 ED	25.00000	250.00	20.00000	200.00		
	/ RAISED RUMBLE ST CLUDES ALL SETS A		100.00000	1,000.00	100.00000	1,000.00		
0055 E10 MOBILIZATIO RESPONSE)	1 72 DN (EMERGENCY	1.000 EA	1,000.00000	1,000.00	500.00000	500.00		





Tabulation of Bids

Page 3 of 4

Letting	j: 03230914	September 14,	2023 Ca l	II Order: 007		Contract:	E3X25-R0	
	No / Item ID Alternat Description	Quantity Units	(1) BOB'S BARRICADES, INC.		(2) ACME BARRICADES LC			
() ind	icates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(TRAFFIC CON	ITROL DEVICES (CONTROL (MH				
0060 PORTAE MOUNTI	E102 20 BLE LIGHTING UNIT (MAST ED)	10.000 ED	150.00000	1,500.00	100.00000	1,000.00		
0065 TRAFFIC	E102 74 9 C CONES	3,500.000 ED	5.00000	17,500.00	1.50000	5,250.00		
0070 TRUCK I (TEMPO	E102 97 1 MOUNTED ATTENUATOR PRARY)	10.000 ED	1,000.00000	10,000.00	1,400.00000	14,000.00		
0075 MOT MA	E102100 INTENANCE SERVICES	300.000 HR	90.00000	27,000.00	85.00000	25,500.00		
_	0001 TRAFFIC CONTROL S DEVICES CONTROL (MH)	Section Totals:	l	\$76,900.00		\$105,300.00		
	Contract G	rand Totals:		\$76,900.00		\$105,300.00		



09/15/2023

Tabulation of Bids

Page 4 of 4

Letting: 03230914

September 14, 2023

Call Order: 007

Contract:

E3X25-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.